Name:______________________________________________________________Period:_____________Date:________________________

DNA - __________________________________________________	Function:  DNA is responsible for storing & transferring _____________________________________from one generation to the next.  It also contains the codes for making all the ____________________ in your body.
Building block (Monomer):  ________________________________
		3 parts:  _______________________________			4 Different Nitrogen Bases:
			  ______________________________			_____________________ (A) pairs with	_____________________ (T)
			  ______________________________			_____________________ (C) pairs with	_____________________ (G)





DNA looks like a twisted ladder.  This 
shape is known as a ____________________________.
[bookmark: _GoBack][image: http://blog-epi.grants.cancer.gov/wp-content/uploads/2012/08/Double-Helix.jpg]
DNA Replication:












[image: semiconservative replication][image: ][image: http://www.biologyjunction.com/images/nucleotide1.jpg][image: semiconservative replication][image: ][image: http://blog-epi.grants.cancer.gov/wp-content/uploads/2012/08/Double-Helix.jpg][image: ]
This mode of replication is called ____________________________________ replication because each parental strand is used as a model (or template) for the new daughter (or complementary) strand (Pair Old with New)
DNA replicates before __________________________________________________.
Steps:
1. An  ____________________  (called __________________________) comes in and breaks the _______________________ bonds  (weak bonds) between the base pairs which causes the strand of DNA to split or “unzips.”  
2. The appropriate __________________   are then matched up (by another enzyme called _______________________).   
3. What you are left with is ____________________  identical strands of DNA

Circle one nucleotide.
How many nucleotides are in this picture?
We say A is _____________________ to T and C is ________________________ to G.  this is the ____________________________.

[image: ][image: ]
So DNA contains the codes for making proteins, but why do we even need to make proteins????  Here are several important proteins.
· ______________________________ - help with the chemical reactions in your body (metabolism).
· ______________________________ - covers the red blood cells and helps carry oxygen to all the cells in your body.  Remember your body needs oxygen to undergo ________________________ to produce 38 ____________ molecules giving your body energy.
· _____________________________ - helps maintain blood sugar homeostasis.  Excess glucose is stored as glycogen in the muscles and liver.
· _____________________________ - Forms channels in the cell membrane to help transport substances in and out of the cell
· ____________________________ - These help with growth and development
· Makes up your muscles that help your body move.

Is every protein made at all times within an organism? _________________________________________


[image: ][image: ][image: ][image: ]

[image: ][image: ][image: ]
2 Main types of DNA mutations:
If the DNA mutates then the protein may ___________________.
· _______________ or _______________ - one base is replaced with a different base

· _______________________ - a base is inserted or deleted so the entire sequence is changed from that point on.
Example:
Normal Protein: - The red cat ate the fat rat.
__________________ Mutation - The red hat ate the fat rat.
_________________ Mutation - The reb dca tat eth efa tra t
Causes of Mutations:
· Random errors in DNA replication
· mutagens – physical or chemical agents that cause mutations
· Ex:  x-rays, UV rays
· Mutations are not always bad –they are a source of genetic diversity


After all the amino acids are put together, the protein is not functional until it ___________________ up into it’s 3-D shape.
Different structures of a protein:

[image: ]
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The DNA contains the code for making proteins. But DNA cannot leave the safety of the
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Use the information i the figure below to complete the following table. The first row has been
completed (o help you get started. Notice that the tRNA is included in this table. Be sure that you use
the codon to determine the amino acid.

Lysine Arginine Tsolencine Threonine A
a| Lysine Arginine Methionine Threonine G
Asparagine Serine Isoleucine Threonine U
|| Asparagine Serine Esoleucine _ Threonive | C
Glatamic acid | Glyeine Valine ‘Alanine A
 Glutamicacid | Giycine Valine Alanine G
Aspartic acid | Glycine Valine Alanine u
§ | | Asparticacid | Glyeine Valine Alanine <
A " “Stop”codon | “Stop” codon | Leucine Serine A
B | “Stop”codon | Tryptophan | Leucine Serine G
[ Tyrosine Cysteine Phenyialanine Serine u
Tyrosine Cysteine _| Serine c
Glutamine ‘Arginine Proline A
o Glutamine Arginine Proline G
Histidine Arginine Proline u
Arginine Proline c
G C
DNA triplet mRNA codon tRNA anticodon Amino Acid
G
T
c
A
A
A
G
G
A
Methionine
[ G
A
T — S S _—
G
u Valine
G

2. What is the purpose of the above codons?

. Which codons do not code for an amino acid?

3. What could happen if you made a mistake making the mRNA from the DNA?

4. What is it called when you make mRNA from DNA?
5. What is it called when you match up tRNA with the mRNA?
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